QUESTION 1  Use the trapezium rule to estimate the value of   ( f(x dx  using seven intervals as shown by the area below this curve.                 0
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QUESTION 2 

A surveyor needs to find the area of the cross-section of a 60 metre wide valley.

   The depth was measured at 10 m intervals as shown in this table:

	Distance

Across (m)
	0
	10
	20
	30
	40
	50
	60

	Height in 

metres
	0
	5.8
	12.4
	17.2
	11.6
	3.8
	0


Use Simpson’s Rule to estimate the cross-sectional area in m2. Show clear working.

QUESTION 3 


Use Simpson’s rule to estimate the cross-sectional area of a symmetrical pear cut                 in half, as shown below:





	x cm
	0
	1
	2
	3
	4
	5
	6

	y cm
	0.0
	1.0
	1.3
	2.6
	4.2
	3.6
	0.0



Answers 

1.    350

2.   517.3

3.   13.3   whole = 26.6
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y = f(x) 
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The lengths of the dotted lines, which are 1 cm apart, are shown in the table:


(Note: The area above the x axis equals the area below it.)


























